University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
1	4220109966145	Muhammad Adil	Muhammad Hanif	Agriculture & Agribusiness Management	2021-22	B20022041	2	Rs. 44,000	Rs. 88,000	Rs. 60,000	Payment credited successfully in June 2023.
2	4220150486693	Muhammad Talha	Muhammad Imran	Applied Chemistry & Chemical Technology	2021-22	B21103006050	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
3	4220103599620	Yuman Nadeem	Nadeem Badar Siddiqui	Applied Chemistry & Chemical Technology	2021-22	B21103006086	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
4	4220122772282	Hamna Attique	Attique Hussain	Applied Chemistry & Chemical Technology	2021-22	B21103006019	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
5	4240145164813	Muhammad Hanzala Abid	Muhammad Abid Rabbani	Applied Chemistry & Chemical Technology	2021-22	B21103006042	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
6	4220193482888	Shiza Afzal	Muhammad Afzal Khan	Applied Chemistry & Chemical Technology	2021-22	B21103006065	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
7	4240187804586	Areesha Ibrahim	Muhammad Ibrahim	Applied Chemistry & Chemical Technology	2021-22	B21103006009	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
8	5220314324075	Jahanzaib Saleh	Babu Saleh	Applied Chemistry & Chemical Technology	2021-22	B21103006024	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
9	4220174472859	Syed Muhammad Labib	Syed Muhammad Arshad	Applied Chemistry & Chemical Technology	2021-22	B21103006069	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
10	4210132642238	Umm-E-Aimon Raza	S.M.Safir Raza	Applied Chemistry & Chemical Technology	2021-22	B21103006082	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
11	4240180241155	Sarim Akber	Akber Ali	Applied Chemistry & Chemical Technology	2021-22	B21103006063	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
12	4250177340168	Sobia Mansoor	Mansoor Alam	Applied Chemistry & Chemical Technology	2021-22	B21103006067	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
13	4240198264171	Muhammad Owais Khan	Muhammad Mumtaz Khan	Applied Chemistry & Chemical Technology	2021-22	B21103006045	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
14	4520834964981	Asif Ali	Ahmed Bux Channa	Applied Physics	2021-22	H2004005	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
15	7130303465841	Kumail Ibrahim	Muhammad Ibrahim	Applied Physics	2021-22	B21104006021	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
16	4250189000032	Shareena Fatima	Shakeel Ahmed	Applied Physics	2021-22	B21104006038	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
17	7120260934205	Mujahid Alam	Doulat Mir	Applied Physics	2021-22	Bs1104006032	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
18	4420466578635	Sarang Khan	Loung Khan	Arabic	2021-22	H2051017	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
19	4210188708403	Haseeb Ahmed Khan	Ghulam Muhammad Khan	Biochemistry	2021-22	H2005021	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
20	5220121222363	Javed Akhtar	Muhammad Akhtar	Biochemistry	2021-22	H1905055	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
21	5220378012305	Hanif	Abdulwahid	Biochemistry	2021-22	H1905050	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
22	4240177640770	Kulsoom	Muhammad Riaz	Biochemistry	2021-22	B21105006050	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
23	4210155922272	Dua Khan	Muhammad Asim Khan	Biochemistry	2021-22	B21105006029	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
24	4250135078620	Ruqqia Tabassum	Muhammad Ghazi	Biochemistry	2021-22	B21105004017	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
25	4210183489922	Hafiza Syeda Maham Ali	Syed Laiqe Ali	Biochemistry	2021-22	H1905044	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
26	4220187245340	Manahil Waseem	Waseem Ahmed	BioTechnology	2021-22	B21106004003	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
27	7140269380766	Sawera Sardar	Sardar Khan	BioTechnology	2021-22	B21106006050	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
28	4210114652974	Hala	Hussain	BioTechnology	2021-22	B2110600601	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
29	4210158200956	Tamseel Fatima	Aamir	BioTechnology	2021-22	H1906053	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
30	4220149896396	Momal	Muhammad Yousuf	BioTechnology	2021-22	H1906029	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
31	5220387760610	Asma	Abdul Karim	BioTechnology	2021-22	B21106006010	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
32	3420153385480	Areej Fatima	Nadeem Baig	BioTechnology	2021-22	H1906007	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
33	4420287265441	Ghulam Mustafa	Mir Afzal	Botany	2021-22	B21107006046	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
34	4210139181558	Zoha Fatima	Syed Baqar Raza Zaidi	Botany	2021-22	B21107004014	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
35	7110382917105	Shujaat Ali	Rehman	Botany	2021-22	B21107006099	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
36	5220372666899	Shahbaik Tariq	Tariq Ali	Botany	2021-22	B21107006098	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
37	7140259587490	Reshma	Ibrahim Khan	Botany	2021-22	H2007071	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
38	4250107693894	Mizna	Muhammad Azam	Centre of Excellence for Women Studies	2021-22	H2083087	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

Column # 11: Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
39	4220182543361	Rajab Ali	Mohammed Saeed	Centre of Excellence for Women Studies	2021-22	B21183006114	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
40	5140232370366	Fozia	Sabro	Centre of Excellence for Women Studies	2021-22	H1983029	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
41	4220171239096	Arisha	Syed Muhammad Anwer	Centre of Excellence for Women Studies	2021-22	H1983013	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
42	4240145246476	Rabia	Doshambay	Centre of Excellence for Women Studies	2021-22	B21183006116	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
43	4220172129260	Areesha Zubair	Muhammad Zubair	Centre of Excellence for Women Studies	2021-22	B21183006018	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
44	4230145989656	Zonash Shaikh	Muhammad Naeem Shaikh	Centre of Excellence for Women Studies	2021-22	B21183006177	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
45	4220143704940	Noor-Ul-Huda	Nadeem Ahmed	Chemical Engineering	2021-22	B20082018	2	Rs. 44,000	Rs. 88,000	Rs. 60,000	Payment credited successfully in June 2023.
46	4220164183158	Hafza Syed	Syed Asif Shah	Chemical Engineering	2021-22	B20082005	2	Rs. 44,000	Rs. 88,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
47	4230112765985	Muhammad Umer Farooq	Nisar Ahmed	Chemical Engineering	2021-22	B20082017	2	Rs. 44,000	Rs. 88,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
48	4220163810447	Muhammad Daniyal	Muhammad Junaid	Chemical Engineering	2021-22	B21108006014	2	Rs. 48,500	Rs. 97,000	Rs. 60,000	Payment credited successfully in June 2023.
49	4210144145483	Shaikh Afser Ali	Shaikh Muhammad Ali	Chemical Engineering	2021-22	B21108006026	2	Rs. 48,500	Rs. 97,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
50	4210111334536	Dua Jawed	Muhammad Jawed Wasim	Chemistry	2021-22	H2009041	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
51	4220125817756	Komal Khan	Wazir Khan	Chemistry	2021-22	H1909060	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
52	4210155117796	Alishba Talat	Muhammad Talat	Chemistry	2021-22	B21109006013	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
53	4220188738952	Tooba Ahmed	Waqas Ahmed	Chemistry	2021-22	B21109006127	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
54	4220167250564	Assiya Raheem	Abdul Raheem	Chemistry	2021-22	H1909028	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
55	4240189888490	Anjeela Malik	Muhammad Mairaj Malik	Chemistry	2021-22	H2009021	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
56	4210126111630	Ramsha Anees	Anees Ahmed	Chemistry	2021-22	H2009100	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
57	4220168036736	Maryam Faheem	Muhammad Faheem	Chemistry	2021-22	B21109006069	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

Column # 11: Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
58	4210121755656	Arbia Zahid	Zahid Hussain	Chemistry	2021-22	H1909020	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
59	4240182003946	Qanoot	Muhammad Aslam	Chemistry	2021-22	B21109006093	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
60	5220304537907	Mumtaz Badal	Badal Khan	Chemistry	2021-22	H2009089	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
61	4210175671558	Maria Tariq	Tariq Mehmood	Chemistry	2021-22	H1909070	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
62	4340204759047	Ali Raza	Ali Sher	Chemistry	2021-22	H2009011	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
63	4220139370836	Iqra Latif	Haji Abdul Latif	Chemistry	2021-22	H1909054	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
64	4220135103809	Muhammad Anus Raza	Mansoor Aijaz	Chemistry	2021-22	B2119006074	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
65	4210105157770	Syeda Javeria Ali	Syed Laiqe Ali	Chemistry	2021-22	B21109006123	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
66	5430154805569	Ahmad Shah	Abdullah	Commerce	2021-22	B19552004	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
67	4220168532629	Ghulam Mustafa	Muhammad Khalil	Commerce	2021-22	B19552016	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
68	4220173538972	Kiran Khan	Mohammad Ibrahim	Commerce	2021-22	P20551036	2	Rs. 26,000	Rs. 52,000	Rs. 60,000	Payment credited successfully in June 2023.
69	4230108386099	Hafiz Mohsin	Muhammad Yaqoob	Computer Science	2021-22	B20103025	2	Rs. 49,000	Rs. 98,000	Rs. 60,000	Payment credited successfully in June 2023.
70	4220152256371	Muhammad Tehseen Khan	Mehtab M Saeed	Computer Science	2021-22	B21110106058	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Payment credited successfully in June 2023.
71	4220157294413	Muhammad Amas	Muhammad Waseem	Computer Science	2021-22	B20102077	2	Rs. 49,000	Rs. 98,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
72	4230104187765	Muhammad Maaz	Nazeer Hussain	Computer Science	2021-22	B21110106052	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Payment credited successfully in June 2023.
73	4220108742999	Aman Khan	Mukarram Khan	Computer Science	2021-22	B20102017	2	Rs. 49,000	Rs. 98,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
74	4220132943604	Tooba	Najeeb Uddin Qureshi	Computer Science	2021-22	B21110004008	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Payment credited successfully in June 2023.
75	4210106883945	Syed Mohammad Zain Ali	Syed Ahmed Ali (Late)	Computer Science	2021-22	B21110106080	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
76	4240148708603	Muhammad Osama	Moin Uddin	Computer Science	2021-22	B21110106055	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

Column # 11: Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
77	4210131813892	Marium Zehra	Rashid Farid	Computer Science	2021-22	B21110006056	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Payment credited successfully in June 2023.
78	4210163509238	Shifa	Altaf	Computer Science	2021-22	B21110004006	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Payment credited successfully in June 2023.
79	5210163731157	Muhammad Yousuf	Syed Muhammad	Computer Science	2021-22	B21110006098	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
80	4220195260473	Hassan Adil Yousuf	Adil Yousuf	Computer Science	2021-22	B21110006040	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Payment credited successfully in June 2023.
81	4550298321423	Abdul Sattar	Sodho Faqeer	Criminology	2021-22	B21156004004	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Payment credited successfully in June 2023.
82	7110135432567	Asim Abdullah	Shakoor Ali	Criminology	2021-22	B21156006011	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
83	5140286859123	Atif Baloch	Khuda Bakhsh	Criminology	2021-22	H1956022	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
84	4350305281377	Ihsan Ali	Muhammad Zaman	Criminology	2021-22	B21156006020	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Payment credited successfully in June 2023.
85	5230191488435	Ahmed Khan	Manzoor Ahmed	Criminology	2021-22	H1956009	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Payment credited successfully in June 2023.
86	7150388388767	Shahid Ali	Ali Raza	Criminology	2021-22	H2065066	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
87	7120393261343	Mehboob Alam	Abdul Kareem	Criminology	2021-22	H1968006	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
88	5220303202831	Amir Kareem	Fazal Kareem	Criminology	2021-22	B21156004005	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Payment credited successfully in June 2023.
89	5440041421627	Mohammad Nadeem	Abdul Ghani	Criminology	2021-22	B21156004032	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Payment credited successfully in June 2023.
90	7170203457297	Faizan Ali	Sadat Ali	Criminology	2021-22	B21156004012	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Payment credited successfully in June 2023.
91	4210194942723	Abdul Wasay	Abdul Malik	Criminology	2021-22	B21156006002	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Payment credited successfully in June 2023.
92	5220387022845	Muhammad Ibrahim	Miskan	Criminology	2021-22	B21156004030	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Payment credited successfully in June 2023.
93	7120244055347	Fida Ullah	Syed Khan	Criminology	2021-22	H1970031	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
94	4250134220361	Mehboob Ur Rehman	Muhammad Ayub	Criminology	2021-22	B21156004028	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Payment credited successfully in June 2023.
95	3720158951913	Atif Ali	Asif Munir	Criminology	2021-22	B21156004010	2	Rs. 36,500	Rs. 73,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
96	4210113015250	Maroosha Qamar	Qamar Uddin	Economics	2021-22	H2057098	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
97	4240182080548	Afshan	Muhammad Siddique	Economics	2021-22	B21157004002	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
98	4340704808665	Muhammad Nawaz	Aijaz Ali	Economics	2021-22	H2057116	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
99	4180306160887	Muhsan Nabi	Ghulam Nabi	Economics	2021-22	H1957109	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
100	4220129877048	Kashmala	Rizwan Ahmad	Economics	2021-22	H1957076	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
101	4220180285744	Samreen Naz	Wajid Hussain	Economics	2021-22	B21157104040	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
102	4220186195392	Seerat	Muhammad Afzal	Economics	2021-22	B21157104046	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
103	5150314075989	Qasim Badal	Badal Khan	Economics	2021-22	B21157004023	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
104	5210113899175	Zahid	Allah Bakhsh	Economics	2021-22	B21157104063	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
105	4210194144520	Sadia Yousuf	Yousuf Khan	Economics	2021-22	B21157006116	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
106	4210136777032	Urooba Tahir	Tahir Ahmed	Economics	2021-22	H1957177	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
107	4250161869074	Kehkashan Tufail	Muhammad Tufail	Economics	2021-22	B21157106055	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
108	4230102535448	Bi Bi Salma	M.Aslam	Economics	2021-22	B21157004007	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
109	7130303437113	Zahid Hussain	Ghulam Abbas	Economics	2021-22	B21157004032	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
110	4220152959688	Hareem	Muhammad Farooq	Education	2021-22	B21158004019	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
111	4240177682604	Noor-Ul-Ain Saba	Md Sabahuddin	English	2021-22	H2059041	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
112	4340604515611	Ali Hyder	Abdul Rehman	English	2021-22	H2059006	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
113	4220110340002	Umm E Ayesha	Muhammad Yousuf	Food Sciences & Technology	2021-22	B21112006034	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
114	4250108582846	Mahnoor Arif	Mohammad Arif Qureshi	Food Sciences & Technology	2021-22	B21112006016	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
115	4240148598134	Kauser Saba	Muhammad Khalil	Food Sciences & Technology	2021-22	B21112006010	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
116	4250143523714	Sadia	Muhammad Suleman	Food Sciences & Technology	2021-22	B21112006028	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
117	9220165210745	Shebaz Ahmed	Muhammad Yousuf	Food Sciences & Technology	2021-22	B19122035	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
118	4240104272754	Mazia Kaleem	Kaleem Ahmed	Food Sciences & Technology	2021-22	B21112006017	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
119	4220180850769	Muhammad Owais	Rafi Uz Zaman	Food Sciences & Technology	2021-22	B19122025	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
120	4250162531981	Adnan Murtaza	Ghulam Murtaza	General History	2021-22	B21160006004	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
121	4520466198155	Imtiaz Ali	Kaman	General History	2021-22	B21160006053	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
122	4250172666724	Saba	Peer Bakhsh	General History	2021-22	H2060108	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
123	5230345507175	Adnan Mansoor	Mansoor Ahmed	General History	2021-22	B21160006003	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
124	5220392537798	Savi Saba	Muhammad Ibrahim	General History	2021-22	H2060123	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
125	5230187616115	Bebarg Ameer	Ameer Bakhsh	General History	2021-22	H2060024	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
126	4220185299204	Farah Yahya	Muhammad Yahya	General History	2021-22	H2060036	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
127	5110140560694	Bakhtawar	Khalil Ahmad	General History	2021-22	B21160006027	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
128	4220135312040	Esha Khan	Haroon Khan	General History	2021-22	B21160006031	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
129	4240110575476	Dua Usman	Muhammad Usman	General History	2021-22	B21160006029	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
130	5210263714157	Muhammad Mukhtar	Mola Bakhsh	General History	2021-22	B21160006084	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
131	4120391495659	Faraz Ali Khoso	Azizullah	General History	2021-22	B21160006037	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
132	5110105609112	Mahnoor	Siraj Ahmad	General History	2021-22	B21160006068	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
133	4250176693104	Muqaddas Ali	Ali Khan	General History	2021-22	H2060093	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
134	4250126347114	Anoosha Asim	Asim Ali	General History	2021-22	B21160006013	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
135	4220101424267	Asif Ali	Abdul Ghafoor	General History	2021-22	B21160006022	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
136	7230103389333	Asif Ali	Ali Naqi	Geography	2021-22	B21114004002	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
137	4210195486670	Anum	Muhammad Idrees	Geography	2021-22	H2014014	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
138	4250170811340	Shumaila Batool	Syed Aamir Hussain Shah	Geography	2021-22	B21114006110	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
139	4220165700970	Ansa Fayyaz	Muhammad Fayyaz Khan	Geography	2021-22	B21114006014	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
140	4210179535840	Fatima Zehra	Jawaid Qureshi	Geography	2021-22	B21114006039	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
141	4230141000548	Ummey Habiba	Syed Amanullah	Geology	2021-22	H2015083	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
142	4350305200843	Muhammad Rafique	Ghanwar Khan	Geology	2021-22	H2015055	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
143	4230152558762	Hamna	Jawed Iqbal Shah	Geology	2021-22	H2015028	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
144	4230116990512	Esha Khan	Irshad Hussain Khan	Geology	2021-22	H2015021	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
145	4240107085674	Muneera Umer	Muhammad Umer	Geology	2021-22	B21115006059	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
146	4520378000691	Abdul Qadeer	Abdul Qadir	Geology	2021-22	H2015003	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
147	4240138291139	Umar Ullah	Abdullah	Geology	2021-22	H2015082	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
148	7240303411671	Ghulam Abbas	Abdul Karim	Health & Physical Education and Sports Sciences	2021-22	B21116004005	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
149	4520231284683	Muhammad Athar	Abdul Waheed	Institute of Environmental Studies	2021-22	H1836012	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
150	4200089152311	Muhammad Hammad	Muhammad Yaseen	Institute of Environmental Studies	2021-22	B21111004004	2	Rs. 43,000	Rs. 86,000	Rs. 60,000	Payment credited successfully in June 2023.
151	7170203503899	Saeed Anwar	Anwar Hussain	International Relations	2021-22	B21161006028	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
152	7120316386905	Ishaq	Abdul Latif	International Relations	2021-22	B221161006014	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
153	7230303422427	Dilawar Hussain	Ghulam Muhammad	International Relations	2021-22	H1961010	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
154	7130117074961	Muhammad Derwaish	Ghulam Rasool	International Relations	2021-22	H1961033	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
155	4530318000275	Ali Hyder	Ali Gul	International Relations	2021-22	H1961005	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
156	4520468599315	Aftab Ali	Abdul Rasheed	International Relations	2021-22	B 21161004002	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
157	7110324929153	Shahid Hussain	Fida Hussain	Islamic History	2021-22	B21162006121	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
158	4250148728338	Sadaf Fatima	Muhammad Shamim	Islamic History	2021-22	H2062100	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
159	4250164126840	Fatima Mushtaq	Muhammad Mushtaq	Islamic History	2021-22	H2062039	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
160	7110202511273	Syed Hasnain Mosivi	Syed Baqir Mosivi	Islamic Learning	2021-22	B21173006142	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
161	4240153765848	Zobia Masood	Syed Masood Alam	Islamic Learning	2021-22	H2063187	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
162	7110389420698	Mehreen Batool	Qamber Ali	Islamic Learning	2021-22	B21163006085	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
163	4320306164935	Parvez Ali	Abdul Sattar	Islamic Learning	2021-22	B21163006121	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
164	1350356275102	Syeda Samrah Waqar	Syed Waqar Ali Shah	Islamic Learning	2021-22	H2063159	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
165	4250138616088	Samreen	Badshah Hussain	Islamic Learning	2021-22	H2063143	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
166	4210149786538	Zohra Maqbool	Maqbool Ahmed	Islamic Learning	2021-22	B21163004041	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
167	4250129917862	Hafiza Aqsa Anwar	Muhammad Anwar	ISPA / ISST	2021-22	H1918034	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
168	5220206921935	Tareef	Yar Muhammad	ISPA / ISST	2021-22	H2018094	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
169	4210123045438	Kanooz Anwar	Anwar Ahmed	Karachi University Business School	2021-22	B19547052	2	Rs. 66,000	Rs. 132,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
170	4220121222832	Aliza Atiq	Muhammad Atiq	Karachi University Business School	2021-22	B21154006007	2	Rs. 70,500	Rs. 141,000	Rs. 60,000	Payment credited successfully in June 2023.
171	4220128112879	Mohammad Asharib	Mohammad Hanif	Karachi University Business School	2021-22	B20547054	2	Rs. 72,000	Rs. 144,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
172	4240139876918	Anam Iqbal	Muhammad Iqbal	Karachi University Business School	2021-22	B21154004005	2	Rs. 70,500	Rs. 141,000	Rs. 60,000	Payment credited successfully in June 2023.
173	4220168617176	Amna Tariq	Muhammad Tariq	Karachi University Business School	2021-22	B21154006008	2	Rs. 70,500	Rs. 141,000	Rs. 60,000	Payment credited successfully in June 2023.
174	4220150075066	Irsa Komal	Naeem Javed	Karachi University Business School	2021-22	B21154004034	2	Rs. 70,500	Rs. 141,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
175	4210174973702	Bisma Khalid	Khalid Mehmood Malik	Karachi University Business School	2021-22	B20542018	2	Rs. 72,000	Rs. 144,000	Rs. 60,000	Payment credited successfully in June 2023.
176	4340704810495	Javeed Ali	Zulfiqar Ali	Library & Information Sciences	2021-22	H2065033	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
177	4230170154685	Ahsan Ali Abbas	Zafar Abbas	Library & Information Sciences	2021-22	B21165006004	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
178	4340303928869	Jabir Hussain	Qalander Bakhsh	Library & Information Sciences	2021-22	H2065032	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
179	4240199063354	Hania	Muhammad Asghar	Library & Information Sciences	2021-22	H2065024	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
180	7130183211941	Nazir Hussain	Muhammad Hussain	Library & Information Sciences	2021-22	BI20653015	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
181	5220325997923	Haleef Aqil	Aqil	Library & Information Sciences	2021-22	H2065023	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
182	4240151397756	Anumta Naz	Muhammad Shakeel	Mass Communication	2021-22	B21166006001	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
183	4240141237964	Sadia Anwer	Anwer Hussain Khan (Late)	Mass Communication	2021-22	B21166004048	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
184	5440014941927	Yasir Nawaz	Mohammad Nawaz	Mathematics	2021-22	B20203062	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
185	7220303404081	Muhammad Ilyas	Muhammad Ali	Mathematics	2021-22	B21120004020	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
186	4320692144291	Abdul Sattar	Ahmed Khan	Mathematics	2021-22	H2020003	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
187	4240110909117	Asad Rehman	Fazal Ur Rehman	Mathematics	2021-22	H2020022	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
188	4310310750965	Ali Ahmed	Manzoor Ahmed	Mathematics	2021-22	B21120006005	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
189	4220104415148	Amna	Rao Abdul Qayyum	Mathematics	2021-22	B21120006011	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
190	4340704722415	Allah Bachayo	Imdad Ali	Mathematics	2021-22	H2020011	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

Column # 11: Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's <u>UBL Account</u>	Remarks
191	4240156553896	Bisma Yousuf	Muhammad Yousuf Khan	Mathematics	2021-22	B21120006026	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
192	4240175352557	Adnan Ashraf	Muhammad Ashraf	Mathematics	2021-22	H2020005	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
193	4310259630280	Aimen	Zafar Iqbal Shaikh	Mathematics	2021-22	B21120006003	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
194	4220110362174	Ghania Zaidi	Sadiq Ali	Mathematics	2021-22	H2020038	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
195	4220118792929	Aymen	Muhammad Nazir	Mathematics	2021-22	B21120006025	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
196	4210197361254	Fatima	Muhammad Nadeem	Mathematics	2021-22	B21120206017	2	Rs. 32,000	Rs. 64,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
197	4230120485406	Jaweria	Muhammad Irfan Channa	Mathematics	2021-22	B21120206024	2	Rs. 32,000	Rs. 64,000	Rs. 60,000	Payment credited successfully in June 2023.
198	4240143767442	Laiba	Safeer Muhammad	Mathematics	2021-22	H1920064	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
199	4220189478643	Zain-Ul-Abidin	Irfan Ahmed	Mathematics	2021-22	B20203065	2	Rs. 29,000	Rs. 58,000	Rs. 60,000	Payment credited successfully in June 2023.
200	4320521604525	Ali Raza	Haji Ali Bukhsh	Mathematics	2021-22	B21120006006	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
201	4230171108808	Isha Nayyab	Mumtaz Ahmed	Mathematics	2021-22	B20202025	2	Rs. 29,000	Rs. 58,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
202	4210167699466	Anum Naz	Muhammad Yousuf	Mathematics	2021-22	B20202008	2	Rs. 29,000	Rs. 58,000	Rs. 60,000	Payment credited successfully in June 2023.
203	4210112838914	Ayesha Abid	Abid Rana	Mathematics	2021-22	B21120006022	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
204	4210155717190	Mahnoor Irshad	Irshad Ahmed	Mathematics	2021-22	B21120006061	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
205	4220181698022	Dua Athar	Kanwar Muhammad Athar	Mathematics	2021-22	B21120006027	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
206	5220294291317	Mumtaz Meher	Peer Bakhsh	Mathematics	2021-22	H2020080	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
207	4240191776163	Hazrat Umar	Muhammad Arif	Mathematics	2021-22	B21120004008	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
208	4210129760686	Areesha Hoor	Rafaqat Aziz Khan	Mathematics	2021-22	B21120006019	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
209	4250179810036	Gul E Zahra	Shabbir Mukhtar	Mathematics	2021-22	B21120006041	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

Column # 11: Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
210	4220156187606	Syeda Eiman Ali	Syed Shariq Ali Adnan	Mathematics	2021-22	H1920132	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
211	4220132179164	Nida Naeem	Naeem Tariq	Mathematics	2021-22	H1920158	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
212	4240159299352	Safia Khanam	N Islam Khan	Mathematics	2021-22	H1920113	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
213	5140128350248	Nadra Naseer	Naseer Ahmed	Mathematics	2021-22	B21120004024	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
214	4250105657598	Muskan	Muhammad Ali Abbas	Microbiology	2021-22	H2021094	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
215	4220138786930	Shafia Akhter	Akhter Rasheed	Pakistan Study Centre	2021-22	P20671018	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
216	7110132191857	Arif Hussain	Muhammad Hussain	Persian	2021-22	B21168006003	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
217	7170403411363	Rahat Hussain	Amir Hayat	Persian	2021-22	H2068007	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
218	7170103437051	Yawar Abbas	Ali Ghulam	Persian	2021-22	H1968011	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
219	7170403502735	Muhammad Hussain	Habib Ullah	Persian	2021-22	B21168006012	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
220	4220113026561	Ebad Ahmed	Muhammad Arshad Shehzad	Petroleum Technology	2021-22	B21122006006	2	Rs. 59,500	Rs. 119,000	Rs. 60,000	Payment credited successfully in June 2023.
221	4220132813150	Amna	Zafar	Petroleum Technology	2021-22	B21122006004	2	Rs. 59,500	Rs. 119,000	Rs. 60,000	Payment credited successfully in June 2023.
222	4530504095493	Wajahat Hussain	Wazeer Hussain	Petroleum Technology	2021-22	H18156026	2	Rs. 39,650	Rs. 79,300	Rs. 60,000	Payment credited successfully in June 2023.
223	4210138737228	Wejah Mansoor	Mansoor Ahmed	Petroleum Technology	2021-22	B21122006033	2	Rs. 59,500	Rs. 119,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
224	4210170939208	Khizra	Kafeel	Petroleum Technology	2021-22	B21122006013	2	Rs. 59,500	Rs. 119,000	Rs. 60,000	Payment credited successfully in June 2023.
225	3530383709827	Amir Raza	Muhammad Jamil	Petroleum Technology	2021-22	H1922005	2	Rs. 46,500	Rs. 93,000	Rs. 60,000	Payment credited successfully in June 2023.
226	4210177856766	Yumna	Sami Ullah	Petroleum Technology	2021-22	B21122006034	2	Rs. 59,500	Rs. 119,000	Rs. 60,000	Payment credited successfully in June 2023.
227	4210146894510	Yusra Hameed	Abdul Hameed	Pharmacy	2021-22	Bp1750187	2	Rs. 34,000	Rs. 68,000	Rs. 60,000	Payment credited successfully in June 2023.
228	4220158206380	Omaima Liaquat Siddiqui	Muhammad Liaquatullah	Pharmacy	2021-22	B21101007170	2	Rs. 48,500	Rs. 97,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
229	3130379618601	Muhammad Hanzla	Mumtaz Alam	Pharmacy	2021-22	Bp1901155	2	Rs. 34,000	Rs. 68,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
230	3610349810943	M.Mudasir	M.Abdullah	Pharmacy	2021-22	Bp2001143	2	Rs. 44,000	Rs. 88,000	Rs. 60,000	Payment credited successfully in June 2023.
231	4520562480214	Asma	Abdul Ghafoor	Pharmacy	2021-22	Bp-1850035	2	Rs. 34,000	Rs. 68,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
232	4210181274632	Komal Rizwan	Muhammad Rizwan	Pharmacy	2021-22	Bp2001103	2	Rs. 44,000	Rs. 88,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
233	3210162150371	Mansoor Haider	Ghulam Haider	Pharmacy	2021-22	B21101007122	2	Rs. 48,500	Rs. 97,000	Rs. 60,000	Payment credited successfully in June 2023.
234	3130446635433	Subhan Ilahi	Ahsan Ali	Pharmacy	2021-22	B21101007189	2	Rs. 48,500	Rs. 97,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
235	4200004436382	Areeba	Jawed	Pharmacy	2021-22	B21101007032	2	Rs. 48,500	Rs. 97,000	Rs. 60,000	Payment credited successfully in June 2023.
236	4240113263860	Wajiha Khalid	Muhammad Khalid	Pharmacy	2021-22	B21101007220	2	Rs. 48,500	Rs. 97,000	Rs. 60,000	Payment credited successfully in June 2023.
237	4220157801856	Alishba Noor	Noor Muhammad	Pharmacy	2021-22	Bp2001022	2	Rs. 44,000	Rs. 88,000	Rs. 60,000	Payment credited successfully in June 2023.
238	4430134366781	Chanisar	Muhammed Hashim	Pharmacy	2021-22	B21101007052	2	Rs. 48,500	Rs. 97,000	Rs. 60,000	Payment credited successfully in June 2023.
239	4220132026895	Syed Faran Ali	Syed Abid Ali (Late)	Pharmacy	2021-22	BP1901225	2	Rs. 34,000	Rs. 68,000	Rs. 60,000	Payment credited successfully in June 2023.
240	7110152377905	Zeeshan Ali	Jaffar Ali	Pharmacy	2021-22	Bp1901264	2	Rs. 34,000	Rs. 68,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
241	4250114915194	Rimsha Mushtaq	Muhammad Mushtaq	Pharmacy	2021-22	Bp2001172	2	Rs. 44,000	Rs. 88,000	Rs. 60,000	Payment credited successfully in June 2023.
242	4220168140947	Muhammad Wahb Siraj	Anwar Siraj	Physical Therapy (DPT)	2021-22	B20172025	2	Rs. 121,000	Rs. 242,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
243	5530212035616	Neha	Abdul Salam	Physical Therapy (DPT)	2021-22	B21117007030	2	Rs. 133,000	Rs. 266,000	Rs. 60,000	Payment credited successfully in June 2023.
244	4230196502134	Urooj Nawaz	Choudhry Muhammad Nawaz Olukh	Physical Therapy (DPT)	2021-22	B21117007046	2	Rs. 133,000	Rs. 266,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
245	4210165409320	Sumaiya Habib	Habib Rashid Ahmed	Physical Therapy (DPT)	2021-22	B21117007041	2	Rs. 133,000	Rs. 266,000	Rs. 60,000	Payment credited successfully in June 2023.
246	4220180698263	Abdul Rehman	Fayyaz Ud Din	Physics	2021-22	H2023003	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
247	4220175929642	Sidra-Tul-Muntaha	Muhammad Jawed	Physics	2021-22	H2023113	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's <u>UBL Account</u>	Remarks
248	4200032490109	Muhammad Usman	Muhammad Younus	Physics	2021-22	H2023083	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
249	4220188449413	Syed Habib	Syed Abdul Rahim Qadri	Physics	2021-22	H2023118	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
250	3630426408636	Ayesha Azam	Muhammad Azam	Physics	2021-22	B21123006017	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
251	2110641407195	Rehanullah	Abdul Qayyum	Physics	2021-22	H2023093	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
252	4210158532536	Bushra Wali	Wali Ullah	Physics	2021-22	B21123006022	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
253	5230146202749	Yar Jan	Muhammad Yaqoob	Physics	2021-22	H2023136	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
254	6110124266305	Kashan Zahoor	Zahoor Ahmed Khan	Physics	2021-22	H2023054	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
255	4220130441656	Rohab	Rizwan Ali	Physics	2021-22	H2023095	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
256	4220168392229	Muhammad Rowaid Raza	Hadi Raza	Physics	2021-22	B21123006105	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
257	4240123574933	Salal Majeed	Abdul Majeed Baloch	Physics	2021-22	B21123006110	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
258	7110259721975	Rehmat Ali	Shakoor Ali	Physics	2021-22	H2023094	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
259	4240151350017	Muhammad Usama	Muhammad Sarfaraz	Physics	2021-22	B1123006091	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
260	4320664195471	Wajid Ali	Habib Ahmed	Physics	2021-22	H2023132	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
261	4320145708783	Hassan Ali	Nasrullah	Physics	2021-22	B21123006039	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
262	4240192222279	Salman Bashir	Bashir Ahmed	Physics	2021-22	B21123006112	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
263	4210187827596	Arooba Shahid	Shahid Nadeem	Physics	2021-22	H2023031	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
264	4210126111858	Hiba Abid	Abid Ali	Physics	2021-22	B21123006042	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
265	4210155072848	Iman Zehra	Syed Zamin Hussain Naqvi	Physiology	2021-22	B21124006045	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
266	4220179058828	Hamna Rafiq	Rafiq Ahmed	Physiology	2021-22	B21124006036	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
267	4240106156711	Muhammad Ramish Ansari	Muhammad Masood	Physiology	2021-22	B21124306028	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
268	4240161555550	Samia Erum	Muhammad Sabahuddin	Physiology	2021-22	B21124006078	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
269	4210174990784	Unasha Abbasi	Faisal Khan Abbasi	Physiology	2021-22	H2024105	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
270	4210149085194	Syeda Umaima Fatima Jaffri	S.M Taqi Jaffri	Physiology	2021-22	B21124006095	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
271	4240125238496	Ayesha Ali	Ali Akbar	Physiology	2021-22	H2024016	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
272	4130394445896	Kashaf Zareen	Masood Kamil	Physiology	2021-22	H2024042	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
273	4250197114100	Syeda Omamah Sherazi	Muhammad Rafiq Shah	Physiology	2021-22	B211006092	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
274	4220179186828	Nimra Imran	Imran Rasheed	Physiology	2021-22	H2024071	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
275	4220106737188	Vaneeza Irfan	Irfan Ullah	Physiology	2021-22	H2024107	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
276	5150308055692	Halima	Bachoo	Physiology	2021-22	H2024035	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
277	4240158805250	Aiman Naz	Muhammad Mairaj Uddin	Physiology	2021-22	B21124006005	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
278	4240117586616	Rabia Shoukat Ali	Shoukat Ali	Physiology	2021-22	B21124006070	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
279	4220191673490	Noureen Riaz	Riaz Ahmed	Physiology	2021-22	H2024072	2	Rs. 24,000	Rs. 48,000	Rs. 60,000	Payment credited successfully in June 2023.
280	4210129964608	Hamna Khan	Muhammad Tahir Khan	Physiology	2021-22	B21124006035	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
281	4210112101430	Ramsha Jabbar	Abdul Jabbar	Physiology	2021-22	B21124006071	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Payment credited successfully in June 2023.
282	4340704807559	Raja Khan	Rano Khan	Political Sciences	2021-22	H2070095	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
283	4220166136600	Bisma	Gayoor Ahmed	Political Sciences	2021-22	B21170006027	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
284	4220192873678	Yousra Siddiqui	Muhammad Yousuf Ali Siddiqui	Political Sciences	2021-22	B21170006129	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
285	5220369425235	Shameem Haleem	Abdul Haleem	Political Sciences	2021-22	H1970092	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
286	4240159288046	Zunaira Iqbal	lqbal Ahmed Khan	Political Sciences	2021-22	B21170006137	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
287	4240121845214	Zainab Niaz	Niaz Ali	Political Sciences	2021-22	B21170006131	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
288	4250148794031	Abdul Salam	Muhammad Saleem	Psychology	2021-22	B21171006002	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
289	4520559247850	Shaista Naz	Mumtaz Ali	Public Administration	2021-22	H1972045	2	Rs. 30,000	Rs. 60,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
290	7170405779288	Tasleem Abbas	Ghulam Abbas	Public Administration	2021-22	H1972056	2	Rs. 30,000	Rs. 60,000	Rs. 60,000	Payment credited successfully in June 2023.
291	4210112540590	Syeda Aqsa Hassan Sami	Syed Aamir Hassan Sami	Public Administration	2021-22	H1972053	2	Rs. 30,000	Rs. 60,000	Rs. 60,000	Payment credited successfully in June 2023.
292	2110489851511	Usman Khan	Muhammad Gul	Quran wa Sunnah	2021-22	B21173006049	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
293	4520136243537	Aamir Ali	Peer Bux	School of Law	2021-22	H2064002	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
294	4510431364953	Amir Ali	Abdul Jabbar	School of Law	2021-22	B21164007019	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Payment credited successfully in June 2023.
295	4530165425783	Hamad Ali	Ghulam Nabi	School of Law	2021-22	B21164007038	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Payment credited successfully in June 2023.
296	4120546497471	Abdul Rehman	Luqman	School of Law	2021-22	B21164007006	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
297	4320401061665	Abdul Baqi	Mujeeb Rahman	School of Law	2021-22	H2064007	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
298	4510519889797	Aijaz Ali	Muhammad Suleman	School of Law	2021-22	B21164007010	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Payment credited successfully in June 2023.
299	4520872867633	Jahangeer Ahmed	Ranjho Khan	School of Law	2021-22	B21164007043	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
300	4120166370139	Ali Tahir	Muhammad Hassan	School of Law	2021-22	B21164007017	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
301	4340304187973	Manthar Ali	Anwar Ali	School of Law	2021-22	B21164007053	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
302	4440101718991	Asad Ali	Arbab	School of Law	2021-22	B211664007023	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Payment credited successfully in June 2023.
303	4310293679783	Rashid Latif	Abdul Latif	School of Law	2021-22	H2064085	2	Rs. 0	Rs. 0	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
304	4340205374709	Rizwan Ali	Syed Talib Shah	School of Law	2021-22	H2064088	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
305	4520507534603	Sajjad Ali	Gul Hassan	School of Law	2021-22	H2064091	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
306	4120575417489	Sheeraz Ali	Liaquat Ali	School of Law	2021-22	H2064101	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
307	4530129009266	Uqba Bano	Muhammad Hashim Soomro	School of Law	2021-22	B21164007096	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
308	4320348637255	Naveed Ali	Ghulam Abbas	School of Law	2021-22	H1964110	2	Rs. 46,000	Rs. 92,000	Rs. 60,000	Payment credited successfully in June 2023.
309	4310549215239	Ghulam Murtaza	Muhammad Panjo	School of Law	2021-22	B21164007037	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Payment credited successfully in June 2023.
310	4430139489039	Amrat	Moroo Mal	School of Law	2021-22	H2064028	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
311	4520230425947	Sohail Ahmed	Muhammad Usman	School of Law	2021-22	B21164007089	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Payment credited successfully in June 2023.
312	4310580236733	Muhammad Umar	Illahi Bux	School of Law	2021-22	B21164007064	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Payment credited successfully in June 2023.
313	4340704472083	Javed Ali	Mohammad Ali	School of Law	2021-22	H2064054	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
314	4530358486885	Saqib	Ashique Hussain	School of Law	2021-22	H1964127	2	Rs. 46,000	Rs. 92,000	Rs. 60,000	Payment credited successfully in June 2023.
315	4340704554973	Israr Ahmed	Khair Muhammad Buledi	School of Law	2021-22	H2064050	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
316	4320314202105	Sajjad Hussain	Mahram Ali	School of Law	2021-22	H1964121	2	Rs. 46,000	Rs. 92,000	Rs. 60,000	Payment credited successfully in June 2023.
317	4330482559747	Babar Ali	Noor Nabi Bhutto	School of Law	2021-22	H2064038	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
318	4530269026785	Ali Raza Abbasi	Nabi Raza	School of Law	2021-22	H2064022	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
319	4120501658983	Adeel Ali	Madad Ali	School of Law	2021-22	H2064016	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
320	4310589186045	Jameel Ur Rahman	Muhammad Daim	School of Law	2021-22	B21164007045	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Payment credited successfully in June 2023.
321	4510317995475	Khadim Hussain	Abdul Majeed	School of Law	2021-22	B21164007051	2	Rs. 56,000	Rs. 112,000	Rs. 60,000	Payment credited successfully in June 2023.
322	4310298013619	Muhammad Asad	Muhammad Tariq	School of Law	2021-22	H2064070	2	Rs. 51,000	Rs. 102,000	Rs. 60,000	Payment credited successfully in June 2023.
323	4530157147059	Abdul Qadeer	Sher Muhammad	Sindhi	2021-22	H2075001	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
324	4320199973656	Nirma Pirzado	Ghulam Sarwar	Sindhi	2021-22	H2075021	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
325	4430268758231	Riaz	Abu Zar	Sindhi	2021-22	H2075023	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
326	4320591480611	Nazeer Ahmed	Ameer Bakhsh	Sindhi	2021-22	B21175006016	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
327	4220158243429	Kashif Ali	Barkat Ali	Sindhi	2021-22	H2075013	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
328	4420508189733	Syed Karim Bux Shah	Zakir Shah	Sindhi	2021-22	H1975048	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
329	4550141091943	Bilal	Faqir Talib	Social Work	2021-22	B21176006014	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
330	4250169498773	Mukhtiar Ali	Muhammad Sharif	Social Work	2021-22	B21176006048	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
331	4250148822388	Rukhsar Parveen	Muhammad Shamim	Social Work	2021-22	B21176006055	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
332	4220157118556	Sawera	Abdur Rehman	Social Work	2021-22	B21176006062	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
333	4250197650703	Muhammad Salar	Muhammad Saleem	Social Work	2021-22	B21176006045	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
334	7150372778065	Azhar Abbas	Muhammad Abbas	Sociology	2021-22	B21177004006	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
335	4250161339034	Saba Naz	Allah Buksh	Sociology	2021-22	H2077089	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
336	4250108345062	Sadia Zaib	Aurangzaib Khan	Sociology	2021-22	H2077091	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
337	4220145436544	Aamna Nabi-Ul-Haq	Nabi -Ul- Haq	Sociology	2021-22	H2077002	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
338	4250110031458	Shazia	Muhammad Rahim	Sociology	2021-22	B21177006088	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
340	4440160943051	Ghazal Rehman	Abdul Rahman	Special Education	2021-22	H1978007	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
341	7150146475997	Javed Ali	Saeed Ali	Special Education	2021-22	B21178006012	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
342	4220110600450	Kaniz Fatima	Islam Uddin	Special Education	2021-22	P20781011	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
343	4320709955739	Jameel Ur Rehman	Khair Muhammad	Statistics	2021-22	B20252028	2	Rs. 39,000	Rs. 78,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
344	4250161109415	Ali Noman	Abbas Ali	Statistics	2021-22	H2025007	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
345	4210122011235	Meesum Abbas	Muhammad Yousuf	Statistics	2021-22	B 20252036	2	Rs. 39,000	Rs. 78,000	Rs. 60,000	Payment credited successfully in June 2023.
346	5220399751571	Islam Mazar	Mazar	Statistics	2021-22	H2025028	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
347	4220166233478	Hafsa	Shahid Ali Meo	Statistics	2021-22	H2025019	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
348	4210194104588	Sahar	Muhammad Kaleem Qureshee	Statistics	2021-22	B21125006071	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
349	4210187758055	Muhammad Sufiyan	Muhammad Yaqoob	Statistics	2021-22	B21125006062	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
350	4240143115760	Umm-E-Kulsoom Jamal	Jamaluddin	Teachers Education	2021-22	B21179006027	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
351	4230154862780	Sumayya	Muhammad Shakir	Teachers Education	2021-22	B21179006024	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
352	4240120830755	Zahir Akber Shah	Tahir Hussain	Teachers Education	2021-22	H2079062	2	Rs. 19,000	Rs. 38,000	Rs. 60,000	Payment credited successfully in June 2023.
353	4220154888970	Laiba	Abdul Majeed	Teachers Education	2021-22	B21179006011	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
354	5210298462161	Jeehandazeem	Azeem	Urdu	2021-22	B21180006070	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
355	5210249545475	Malik	Khuda Dad	Urdu	2021-22	B21180004011	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
356	4240186219991	Shoaib Akhter	Abdul Waheed	Urdu	2021-22	H1980110	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
357	4220106158650	Bakhtawar Badal	Badal	Urdu	2021-22	B21180006038	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
358	4210116562634	Afshan Zaidi	Syed Manzer Hussain Zaidi	Urdu	2021-22	B21180004003	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
359	4210188227792	Arwish Shoukat	Muhammad Shoukat Ali	Urdu	2021-22	B21180006030	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
360	4250131467823	Shah Ahmed Khan	Rozi Khan	Urdu	2021-22	H1980107	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
361	7130115800669	Muhammad Aslam	Ghulam Muhammad	Urdu	2021-22	H2080099	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
362	7120376237439	Muhammad Tayyoub	Abdul Raziq	Urdu	2021-22	B21180004013	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
363	7120373287837	Sharma Khan	Kamal Khan	Urdu	2021-22	B21180006147	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
364	1350167463459	Abdul Rehman	Sajid Hussain	Urdu	2021-22	H1980003	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
365	7110314608313	Muhammad Arif	Muhammad Hussain	Urdu	2021-22	B21180006095	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
366	4250119193046	Bareera	Muhammad Anwar	Urdu	2021-22	B21180006039	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
367	4250155250594	Misbah Khan	Muhammad Shafique Khan	Urdu	2021-22	B21180006092	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
368	7240303404513	Imtiyaz Ahmed	Ghulam Mehdi	Urdu	2021-22	B21180006063	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
369	4220143847322	Rimsha	Ashraf	Urdu	2021-22	H2080136	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
370	4220104535986	Bibi Sadaf	Syed Adil Shah	Urdu	2021-22	H1888018	2	Rs. 10,720	Rs. 21,440	Rs. 60,000	Payment credited successfully in June 2023.
371	7220103421805	Muhammad Hassan	Ghulam Haider	Urdu	2021-22	B21180006096	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
372	4530259751951	Waqar Ali	Abdul Latif	Urdu	2021-22	H2080188	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
373	4250115957538	Natasha	M Aslam	Urdu	2021-22	H2080120	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
374	4230163432688	Aqsa Bibi	Nazeer Ahmed	Usooluddin	2021-22	B21181006006	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
375	4130413214392	Mahzaib	Shahid Iqbal	Usooluddin	2021-22	H2081027	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
376	4210188559998	Ayesha Nasir	Nasir Masood	Usooluddin	2021-22	H2081007	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
377	4210168028720	Safia Khan	Muhammad Farooq Khan	Usooluddin	2021-22	H2081044	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
378	2110469529785	Hafeez Ullah	Aslat Khan	Usooluddin	2021-22	B21181006012	2	Rs. 15,500	Rs. 31,000	Rs. 60,000	Payment credited successfully in June 2023.
379	4240185927350	Zubia Zaib	Shahid Iqbal	Usooluddin	2021-22	H2081053	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
380	4210165532832	Rabia Kokab	Kokab Riaz	Usooluddin	2021-22	H2081042	2	Rs. 14,000	Rs. 28,000	Rs. 60,000	Payment credited successfully in June 2023.
381	4220152064538	Tatheer Waseem	Waseem Iqbal	Visual Studies	2021-22	B21182006111	2	Rs. 54,000	Rs. 108,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
382	4160106968867	Ghulam Nabi	Abdul Hameed	Zoology	2021-22	B21126006028	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
383	4250113617288	Areeba Khan	Irshad Ahmad	Zoology	2021-22	B21126006016	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Payment credited successfully in June 2023.
384	4340704902561	Aamir Ali	Nabi Bakhsh	Zoology	2021-22	B21126006001	2	Rs. 23,000	Rs. 46,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
385	7110503484975	Muhammad Ali Sajid	Mehboob	Zoology	2021-22	P20261020	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
386	4240109759380	Tuba	Arshad Fareed	Physiology	2021-22	B21124006104	2	Rs. 26,500	Rs. 53,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
387	3460367864081	Ali Sohaib	Zawar Hussain	Centre of Excellence for Women Studies	2021-22	H1893009	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
388	4220160797748	Shahnaz	Deedar Hussain	Zoology	2021-22	H2026081	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Payment credited successfully in June 2023.
389	4240156449846	Mahrukh Yousuf	Muhammad Yousuf Khan	Zoology	2021-22	H1926063	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
390	4230126824080	Safa	Muhammad Asim	Zoology	2021-22	H2026074	2	Rs. 21,000	Rs. 42,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
391	4240174200256	Areej Tanveer	Tanveer Ahmed	Acturial Sciences	2020-21	B18102009	1	Rs. 29,200	Rs. 29,200	Rs. 30,000	Bank Account Discrepant. Contact UBL KU Branch.
392	4440152638468	Sheela	Gunesh Das	English	2020-21	H1858051	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
393	4210149355864	Ayesha Saleem	Abdul Saleem	English	2020-21	P20591010	1	Rs. 19,000	Rs. 19,000	Rs. 30,000	Payment credited successfully in June 2023.
394	4420433352693	Feroz Gul	Khameeso Khan	Sindhi	2020-21	H1881017	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
395	4230110741358	Marina M. Yaseen	M.Yaseen	Quran wa Sunnah	2020-21	H18304012	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
396	4210105946848	Anusha Shakir	M. Shakir Iqbal	Physiology	2020-21	H1823009	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
397	5220210688773	Adil Ali	Nadil	Sociology	2020-21	H1885002	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
398	4240167012404	Iqra Jawed	Muhammad Jawed	Library & Infor. Sci.	2020-21	H18114018	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
399	4210115916032	Zoya Raees	Muhammad Raees	Commerce	2020-21	B18111059	1	Rs. 19,960	Rs. 19,960	Rs. 30,000	Payment credited successfully in June 2023.
400	4240177380968	Syeda Hafiza Halima Sadia	Syed Bu Ali Sena	Commerce	2020-21	B18111055	1	Rs. 19,960	Rs. 19,960	Rs. 30,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
401	4210113395805	Abdul Subhan	Asghar Ali	ISPA / ISST	2020-21	H1918004	1	Rs. 17,000	Rs. 17,000	Rs. 30,000	Payment credited successfully in June 2023.
402	4210182826380	Shiza Moin	Moin Uddin	Food Sciences & Technology	2020-21	B1830036	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
403	4210181556258	Jaisha Farooqui	M. Naeem Farooqui	Food Sciences & Technology	2020-21	B1830012	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
404	3520292479749	Farhan Ali	Azhar Sajjad	Criminology	2020-21	H18156005	1	Rs. 39,650	Rs. 39,650	Rs. 30,000	Payment credited successfully in June 2023.
405	7170403496785	Sajid Ali	Jaffar Ali	Botany	2020-21	H1878086	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
406	1610227173869	Muhammad Asad	Muhammad Amin	Chemistry	2020-21	P20091043	1	Rs. 24,000	Rs. 24,000	Rs. 30,000	Payment credited successfully in June 2023.
407	4220167376570	Nida Usman	Usman Muhammad	Geography	2020-21	H1812077	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
408	4240101186071	Muhammad Ahmed	Arshad Sharafat	Geography	2020-21	H1812063	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
409	4220184157206	Bibi Sadia	S. Gul M. Shah	Education	2020-21	H1892052	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
410	4220172758011	Ahmed Javed	Javed Iqbal	Physiology	2020-21	H1823002	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
411	4210104125410	Yumna Saleem	Saleem Ahmed	Centre of Excellence for Wom	2020-21	H1893108	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
412	4220165073058	Summaiyah Bibi	Fazal Wahid Khan	Chemistry	2020-21	H1808100	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
413	7110464542091	Muhammad Hussain	Wasil Khan	Political Sciences	2020-21	H1878060	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
414	4210172716649	Syed M. Abdullah Ghazi	S. M. Akber	Food Sciences & Technology	2020-21	B1830037	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
415	4240111181842	Shagufta Parveen	Muhammad Akhter (Late)	Physiology	2020-21	H1823079	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
416	4230158569584	Safia Naz	Nusrat Khan	International Relations	2020-21	P20611063	1	Rs. 19,000	Rs. 19,000	Rs. 30,000	Payment credited successfully in June 2023.
417	4210183321843	Mahmood Noor	Noor Hussain	Economics	2020-21	H1855078	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
418	4220186290718	Sana	Fida Hussain	Business School	2020-21	P18108043	1	Rs. 47,680	Rs. 47,680	Rs. 30,000	Payment credited successfully in June 2023.
419	4240196057363	M. Shaheer Ansari	Muhammad Masood	Food Sciences & Technology	2020-21	B1830027	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's <u>UBL Account</u>	Remarks
420	4220124942472	Samia Khan	Shakir Khan	Chemistry	2020-21	H1808087	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
421	4210163035026	Wajiha Salman Khan	M. Salman Khan Mahmand	Public Administration	2020-21	H1897052	1	Rs. 25,900	Rs. 25,900	Rs. 30,000	Payment credited successfully in June 2023.
422	4240125628172	Laiba	Rashid Khan	Botany	2020-21	H1806099	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
423	5220331560502	Hanool Aman Ullah Baloch	Aman Ullah Baloch	Chemistry	2020-21	P20091024	1	Rs. 24,000	Rs. 24,000	Rs. 30,000	Payment credited successfully in June 2023.
424	7110503464043	Muhammad Hadi	Muhammad Jaffar	Mass Communication	2020-21	P20661030	1	Rs. 19,000	Rs. 19,000	Rs. 30,000	Payment credited successfully in June 2023.
425	4250174364089	M. Hunain Ismail	Muhammad Ismail	Mathematics	2020-21	H1816114	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
426	4430132930083	Pancho Mal	Beerio	Mass Communication	2020-21	H1870029	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
427	4320350309899	Abdul Hameed	Ghulam Qadir	Bio Chemistry	2020-21	H1804001	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
428	4250154249410	Laraib Zahra	Mohammad Hussain	Geography	2020-21	H1812048	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
429	4210127080440	Tuba Khan Ghory	M. Younus Khan Ghory	Computer Science	2020-21	B18158063	1	Rs. 35,800	Rs. 35,800	Rs. 30,000	Payment credited successfully in June 2023.
430	4240197452274	Shazmeen Tabassum	Imtiaz	Physiology	2020-21	H1823078	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
431	4220164501274	Fariha Akhter	Akhter Ali	Business School	2020-21	P18108011	1	Rs. 47,680	Rs. 47,680	Rs. 30,000	Payment credited successfully in June 2023.
432	5220323622319	Abid Kachkol	Kachkol	International Relations	2020-21	P20611002	1	Rs. 19,000	Rs. 19,000	Rs. 30,000	Payment credited successfully in June 2023.
433	4210158031694	Laiba Hasan	Zahid Hasan	Public Administration	2020-21	H1897021	1	Rs. 25,900	Rs. 25,900	Rs. 30,000	Payment credited successfully in June 2023.
434	4250149311398	Sawera	Khalidmehmood	Bio Chemistry	2020-21	H18114042	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
435	4220199577708	Wardah Sarwer Khan	M. Sarwer Khan	BioTechnology	2020-21	H1831041	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
436	4220172573656	Nafeesa Alam	Mir Alam Khan	Urdu	2020-21	H1888056	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
437	4220154785198	Anita Alam	Mir Alam Khan	Urdu	2020-21	H1888056	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
438	4320130092864	Umefiza	Riaz Ali	BioTechnology	2020-21	H1831039	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

Column # 11: Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
439	4210147637167	Ahmed Murtaza	Amjad Hussain Qureshi	Criminology	2020-21	P20561005	1	Rs. 33,000	Rs. 33,000	Rs. 30,000	Payment credited successfully in June 2023.
440	5220292882547	Hasrat Murad	Murad Bakhsh	Statistics	2020-21	H1824025	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
441	4320627569953	Bilawal Khan	Rajib Ali	Computer Science	2020-21	B18101026	1	Rs. 35,800	Rs. 35,800	Rs. 30,000	Payment credited successfully in June 2023.
442	4220166805084	Sadia Khan	M. Jameel Khan	Business School	2020-21	P18108040	1	Rs. 47,680	Rs. 47,680	Rs. 30,000	Payment credited successfully in June 2023.
443	4230176372736	Arisha Khan	Muhammad Yameen	ISPA / ISST	2020-21	H18154015	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
444	4220198628292	Aqsa Khan	Aftab Ali Khan	ISPA / ISST	2020-21	H18154013	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
445	1310175896176	Urooj	Khalid Khan	Chemistry	2020-21	H1808116	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
446	4220126610800	Fatima Musharraf	S. Musharraf Hussain	Physiology	2020-21	H1823030	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
447	4200016602112	Yamna Zain	Zain Ul Abedin	BioTechnology	2020-21	H1831042	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
448	4250192094008	Sumayya Siddiqui	Ehtisham Ali Siddiqui	Agriculture & Agribusiness Ma	2020-21	B1834058	1	Rs. 33,160	Rs. 33,160	Rs. 30,000	Payment credited successfully in June 2023.
449	4220179027452	Iqra Waseem	Waseem Siddiq	Criminology	2020-21	H18135122	1	Rs. 24,580	Rs. 24,580	Rs. 30,000	Payment credited successfully in June 2023.
450	4230128427138	Nousheen	Abdullah	Criminology	2020-21	H18135068	1	Rs. 24,580	Rs. 24,580	Rs. 30,000	Payment credited successfully in June 2023.
451	4210181522662	Ramsha Aslam	M.Aslam	Criminology	2020-21	H18135073	1	Rs. 24,580	Rs. 24,580	Rs. 30,000	Payment credited successfully in June 2023.
452	7110368841583	Muhammad Naseem	Muhammad Ejaz	Institute of Envir. Studies	2020-21	H1836013	1	Rs. 29,200	Rs. 29,200	Rs. 30,000	Payment credited successfully in June 2023.
453	7180203403129	Ali Akbar	Muhammad Ashraf	Urdu	2020-21	P1803006	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
454	1430117976597	Azhar Sarwar	Ghulam Sarwar	Chemical Engineering	2020-21	B1833012	1	Rs. 33,160	Rs. 33,160	Rs. 30,000	Payment credited successfully in June 2023.
455	5210241160388	Hazaran	Rahim Dad	English	2020-21	P20591016	1	Rs. 19,000	Rs. 19,000	Rs. 30,000	Payment credited successfully in June 2023.
456	4240173997486	Arshia	Abdul Munaf	Computer Science	2020-21	B18101020	1	Rs. 35,800	Rs. 35,800	Rs. 30,000	Payment credited successfully in June 2023.
457	5140268912032	Bakhtawar	Muhammad Ibrahim	Botany	2020-21	H1806024	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's <u>UBL Account</u>	Remarks
458	4230169669503	Sajjad Ali	Abdul Qadir	Political Sciences	2020-21	H1878087	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
459	4340704280961	Aandal Khan	Hassan Ali	Business School	2020-21	B18107001	1	Rs. 47,680	Rs. 47,680	Rs. 30,000	Payment credited successfully in June 2023.
460	4240133669856	Sana Rehman	M. Shams Ur Rehman	Social Work	2020-21	H1866094	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
461	4410903542727	Lachman	Shevo	Sindhi	2020-21	H1881026	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
462	4210147538280	Rizwana Jabeen	Muhammad Hafeez	Social Work	2020-21	H1883031	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
463	4210133582363	S. Mehad Abbas Zaidi	S. Mazhar Hasnain Zaidi	Criminology	2020-21	H18135095	1	Rs. 24,580	Rs. 24,580	Rs. 30,000	Payment credited successfully in June 2023.
464	4220177440394	Sumaira	Abdul Jamil	Political Sciences	2020-21	H1878101	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
465	4250169933224	Zunaira	Amjad Ali Memon	Zoology	2020-21	P20261044	1	Rs. 21,000	Rs. 21,000	Rs. 30,000	Payment credited successfully in June 2023.
466	4220163022873	Aqib Muneer	Muneer Ahmed (Late)	ISPA / ISST	2020-21	H18154012	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
467	4240197840210	Aiman	Shafi	Economics	2020-21	H1855007	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
468	4230131020837	Danish Subhan	Subhan Ahmed	Public Administration	2020-21	P20591006	1	Rs. 19,000	Rs. 19,000	Rs. 30,000	Payment credited successfully in June 2023.
469	4320302263857	Sahil Khan	Saleem Gaad	Business School	2020-21	B18107055	1	Rs. 47,680	Rs. 47,680	Rs. 30,000	Payment credited successfully in June 2023.
470	4240189128915	Zeeshan Alam	Khursheed Alam	School of Law	2020-21	H17132077	1	Rs. 36,100	Rs. 36,100	Rs. 30,000	Bank Account Discrepant. Contact UBL KU Branch.
471	4310253077851	Muhammad Usman	Muhammad Munwar	Business School	2020-21	B18107044	1	Rs. 47,680	Rs. 47,680	Rs. 30,000	Payment credited successfully in June 2023.
472	4430335253233	Partab Rai	Harji Mal	Computer Science	2020-21	B18101095	1	Rs. 35,800	Rs. 35,800	Rs. 30,000	Payment credited successfully in June 2023.
473	4220150591580	Ruqayya Qasim	M. Qasim Khan	Political Sciences	2020-21	H1878082	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
474	4240196697254	Farwa Zaib	Zaib Ur Rehman	Botany	2020-21	H1806033	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
475	7110449573809	Iqbal Hussain	Siah Malik	Sociology	2020-21	P20771021	1	Rs. 19,000	Rs. 19,000	Rs. 30,000	Payment credited successfully in June 2023.
476	4210135584695	Syed Muhammad Saad	Muhammad Iqbal(Late)	Geography	2020-21	H1812107	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
477	5220227132091	Nasrat Rafique	Muhammad Rafique	Mathematics	2020-21	H1816132	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
478	4250149539379	Sameer Hassan	Muhammad Hassan	Mathematics	2020-21	H1816160	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
479	4220101048804	Mahrukh Khan	M. Tariq Khan	Public Administration	2020-21	H1897023	1	Rs. 25,900	Rs. 25,900	Rs. 30,000	Payment credited successfully in June 2023.
480	4240142570180	Sunaina Unzal	Rashid Khan	Botany	2020-21	H1806099	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
481	4320150281469	Babar Ali	Bashir Ali	Computer Science	2020-21	B18101024	1	Rs. 35,800	Rs. 35,800	Rs. 30,000	Payment credited successfully in June 2023.
482	4220180139176	Zaib Un Nisa	Sakhi Dad	Political Sciences	2020-21	H1878115	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
483	4200001874218	Bushra	Shakeel Ahmed	Usool-ud-din	2020-21	H18113004	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
484	4240111053212	Sijza	Shakeel	Mathematics	2020-21	H1816171	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
485	1520291501477	Shafiq Ur Rehman	Haidari	Botany	2020-21	P19071038	1	Rs. 17,000	Rs. 17,000	Rs. 30,000	Payment credited successfully in June 2023.
486	4220176957340	Ayesha Hina	Jahangeer Muslim	Geography	2020-21	H1812019	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
487	4410759594435	Madan Lal	Vasoo	Business School	2020-21	B18107030	1	Rs. 47,680	Rs. 47,680	Rs. 30,000	Payment credited successfully in June 2023.
488	4430365601023	Vikram	Mohan Lal	Business School	2020-21	B18107067	1	Rs. 47,680	Rs. 47,680	Rs. 30,000	Payment credited successfully in June 2023.
489	4250125526870	Bushra Hanif	Muhammad Hanif	Botany	2020-21	H1806028	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
490	4340704110553	Turab Ali	Ghulam Mustafa Tunio	International Relations	2020-21	H1864055	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
491	4240174941686	Maha Khan	M. Azeem Khan	Applied Chemistry & Chemica	2020-21	H1801034	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
492	4210112036117	Imran	Anwar Syed	Applied Chemistry & Chemica	2020-21	H1801030	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
493	4210163511524	Urooj Fatima	M. Ahmed Khan	Geography	2020-21	H1812119	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
494	4250134407815	Farhan Malik	Khalique Dad	Geography	2020-21	H1812027	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
495	4510404122709	Ishfaque Ahmed	Abdul Latif	Computer Science	2020-21	P20101011	1	Rs. 49,000	Rs. 49,000	Rs. 30,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
496	4210177853244	Kinzatuliman	Sheikh Muhammad Ismail	Chemistry	2020-21	H1808126	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
497	4220109918978	Ansa	Akhter Hussain	Zoology	2020-21	H1826009	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
498	4210165844591	Muhammad Abrar	Muhammad Hanif	Zoology	2020-21	H1909071	1	Rs. 17,000	Rs. 17,000	Rs. 30,000	Payment credited successfully in June 2023.
499	4240176694209	Nizam Ahmed	Dost Muhammad	Physics	2020-21	H1821093	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
500	5220297007665	Waris	Gul Muhammad	Physics	2020-21	H1821140	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Bank Account Discrepant. Contact UBL KU Branch.
501	4240195096814	Anum	Mumtaz	Physiology	2020-21	H1823008	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
502	4220175166770	Rohab Zahid	Muhammad Zahid	Mathematics	2020-21	H1816151	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
503	4250141314214	Aftab Ahmed	Qamaruddin	International Relations	2020-21	H1881006	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Bank Account Discrepant. Contact UBL KU Branch.
504	4520891022887	S. Nad E Ali Jahanian	S. Faiz Jahanian	International Relations	2020-21	H1864046	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
505	4240178810192	Kainat Farooq	Umar Farooq	International Relations	2020-21	H1888038	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
506	4210111887400	Nadia Batool	Farman Ali	Islamic Learning	2020-21	P19161020	1	Rs. 17,000	Rs. 17,000	Rs. 30,000	Payment credited successfully in June 2023.
507	5150347810620	Laiba Farooq	Farooq Ali	Mathematics	2020-21	H1816083	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
508	4240169594768	Misbah Ali	Mohiuddin	Mathematics	2020-21	H1816107	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
509	4250143534977	Manzar Hussain	Muhammad Mehar	Sindhi	2020-21	H1881027	1	Rs. 10,720	Rs. 10,720	Rs. 30,000	Payment credited successfully in June 2023.
510	4210155698116	Anamta Taj	Taj-Ul-Aman	Applied Chemistry & Chemica	2020-21	H1801012	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
511	1520148943047	Naveed Sultan	Sultan Shah	Institute of Envir. Studies	2020-21	H1836016	1	Rs. 29,200	Rs. 29,200	Rs. 30,000	Payment credited successfully in June 2023.
512	4220112476484	Areeba Ghayas	Ghayas Uddin	Applied Chemistry & Chemica	2020-21	H1801016	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
513	4220133874178	Aqsa	Ghulam Hassan	Applied Chemistry & Chemica	2020-21	H1801015	1	Rs. 14,680	Rs. 14,680	Rs. 30,000	Payment credited successfully in June 2023.
514	4210102427660	Fizzah Fatima	Usman Ul Haq Siddiqui	Business School	2020-21	B18107021	1	Rs. 47,680	Rs. 47,680	Rs. 30,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
515	4240149774488	Bushra Saleem	Saleem Ul Lah	Mass Communication	2020-21	H1966007	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
516	4220134369560	Maliha Javed	Muhammad Javed	Mass Communication	2020-21	H1966011	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
517	4230139008787	Wajahat Hussain	Ashiq Hussain	Criminology	2020-21	H1956137	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Payment credited successfully in June 2023.
518	4520526336297	Muhammad Moosa	Mumtaz Ali	Public Administration	2020-21	H1972031	2	Rs. 30,000	Rs. 60,000	Rs. 60,000	Payment credited successfully in June 2023.
519	4220114086264	Muqaddus Ramzan	Muhammad Ramzan	Geography	2020-21	H1909077	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
520	4250153723152	Aqsa Imtiaz Sheikh	Imtiaz Ahmed Sheikh	Geography	2020-21	H1914015	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
521	4210161245318	Rameen Siddiqui	M. Asadullah Siddiqui	Physiology	2020-21	H1924084	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
522	4220119562906	Sehrish Iftikhar	Iftikhar Ali	Urdu	2020-21	H1980106	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
523	3660190804832	Farheen Ahmad	Ahmad Khan Fareedi	Economics	2020-21	H1957056	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
524	4250176961420	Ishrat Fatima	M. Zikria	Economics	2020-21	H1957070	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
525	4210151591868	Noor Ul Ain Ansari	Abdul Samad	Economics	2020-21	H1957119	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
526	4250110066765	Baqir Hussain	Sajid Hussain	Criminology	2020-21	H1956026	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Payment credited successfully in June 2023.
527	4210124708459	Zain Ahmad	Shakeel Ahmed	Criminology	2020-21	H1956142	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Payment credited successfully in June 2023.
528	7180203404597	Sherbaz Ali	Muhammad Hanif	Persian	2020-21	H1909071	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
529	4220123861884	Minahil	Muhammad Ramzan	Chemistry	2020-21	H1909077	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
530	7150403823848	Fariyal Hussain	Hadi Hussain	Urdu	2020-21	H1980030	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
531	7180103393209	Shoukat Abbas	Muhammad	Urdu	2020-21	P19801022	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
532	7150293902860	Safina Saleem	Muhammad Saleem	Urdu	2020-21	H1907052	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
533	4240192078067	Aqib Ahmed Khan	M. Wasim Ahmed Khan	Applied Chemistry & Chemica	2020-21	H1903009	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

Column # 11: Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
534	4250171131656	Atiya Khalid Siddiqui	Khalid Nawab Siddiqui	BioTechnology	2020-21	H1906010	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
535	4240101421728	Kainat	M. Abid Hussain	Islamic Learning	2020-21	H1963057	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
536	4210122273120	Maham Mustafa	Ghulam Mustafa	Economics	2020-21	P19561047	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Payment credited successfully in June 2023.
537	4220118949240	Fizza Umar	Muhammad Umar	Islamic Learning	2020-21	H1963041	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
538	4220123030577	Muhammad Sheharyar	Muhammad Azad	Applied Physics	2020-21	H1904017	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
539	4200059948384	Sawera Rasheed	M. Abdur Rasheed	BioTechnology	2020-21	H1906045	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
540	4330451039957	Safeeullah	Assadullah Shaikh	International Relations	2020-21	H1961043	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
541	4550504300067	Mohammad Arsalan	Mohammad Ismail	International Relations	2020-21	H1961030	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
542	7110399061503	Munawar Ali	Khalil Ahmed	Islamic History	2020-21	H1962027	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
543	4210116181872	Misbah Khan	Musarrat Ali Khan	Economics	2020-21	H1957095	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
544	5220292373067	Shay Haq Baloch	Ellahi Bakhsh	General History	2020-21	H1960123	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
545	5210261921481	Khaliq Baksh	Mola Baksh	Physics	2020-21	H1923059	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
546	4220169854900	Chanda Asif	Asif Michel	Library & Infor. Sci.	2020-21	H1965013	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
547	4240162107484	Bushra	Pervaiz	Chemistry	2020-21	H1924026	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
548	4200031622756	Ayesha	Sher Dawar Khan	Physiology	2020-21	H1924020	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
549	4220101331888	Bushra Khan	Nasir Abbas	Physiology	2020-21	H1924027	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
550	4240167972504	Hina Khursheed	Khursheed Alam	Physiology	2020-21	H1924041	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
551	4240136257834	Rabia Saleem	M. Saleem Ahmed	Pharmacy	2020-21	BP1850138	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
552	5230282062805	Muhammad Ali	Dur Muhammad	Mathematics	2020-21	H1920081	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
553	5220394998207	Mubarak Ghani	Ghani	Mathematics	2020-21	H1920079	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
554	4240133428800	Farkhanda Jabeen	Siraj Ul Haque	Chemistry	2020-21	H1909042	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
555	4210178497388	Marium Hanif	Muhammad Hanif	Chemistry	2020-21	H1909071	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
556	4210143956740	Areeba Muneer	Muneer Hussain	Centre of Excellence for Wom	2020-21	H1983012	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
557	8120161510161	M. Yameen	Khalil Ahmed Tahir	Usooluddin	2020-21	H1981019	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
558	4220151099064	Affifa Arif	Arif Ismail	Microbiology	2020-21	H1921002	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
559	4240174526572	Farishah	Syed Faheem	Mathematics	2020-21	B19203024	2	Rs. 25,000	Rs. 50,000	Rs. 60,000	Payment credited successfully in June 2023.
560	4210186933400	Adina Manzoor	Manzoor Ahmed	Bio Chemistry	2020-21	H1905004	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
561	4250118655060	Waniya Mustafa	Muhammad Mustafa	Mathematics	2020-21	H1920149	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
562	4210156884828	Rubi Abid	Abid Ali	Mathematics	2020-21	H1920111	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
563	4210145786890	Eruj Ghaffar	Abdul Ghaffar	Microbiology	2020-21	H1921032	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
564	4210187948096	Hania Rehman	Zia-Ur-Rehman(Late)	Microbiology	2020-21	H1921058	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
565	7110352558575	Zakir Hussain	Ibrahim	Urdu	2020-21	H1903079	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
566	4540310086139	Javed Hussain	Imdad Hussain	Applied Chemistry & Chemica	2020-21	H1903026	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
567	4220111837280	Arooba	Muhammad Ali	Zoology	2020-21	P19071035	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
568	4210138200264	Sharmeen Fatima	Syed Ansar Abbas	Pharmacy	2020-21	BP1850158	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
569	4320368385181	Abdul Sattar	Muhammad	Chemistry	2020-21	H1909001	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
570	4320675555575	Muhammad Ibrahim	Qaisar Khan	Chemistry	2020-21	H1909090	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
571	4210171327444	Rimsha	Ejaz Ahmed	Botany	2020-21	H1907091	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
572	4210114565770	Hira Naz	Muhammad Saleem	Botany	2020-21	H1907052	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
573	4240151245520	Ibrah Abid	M. Abid Hussain	English	2020-21	H1959032	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
574	4230196915896	Misbah	Muhammad Akram	Centre of Excellence for Wom	2020-21	H1983051	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
575	7140121970985	Yousuf Ur Rehman	Fazal Rehman	Urdu	2020-21	H1980122	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
576	4220156052685	Saad Salman M. Khan	Shamshad M. Khan	Criminology	2020-21	H1956108	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
577	4220147414409	Multazam Tamjeed Jilani	Tariq Iqbal Jilani	Pharmacy	2020-21	BP1850118	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
578	5220487174962	Rukhsana	Jan Mohammad	Geology	2020-21	H1915068	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
579	4240198039021	Adil	Khan Afser	Urdu	2020-21	H1980004	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
580	4240196538148	Sadaf Ansari	Niaz Ahmed	Physiology	2020-21	H1924089	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
581	4220131917345	H. M. Mudassir Khan Bungasł	H. Tariq Saeed Khan	Mathematics	2020-21	H1920041	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
582	7140188173403	Fateh Ali Khan	Hyder Ali Khan	Public Administration	2020-21	H1972014	2	Rs. 30,000	Rs. 60,000	Rs. 60,000	Payment credited successfully in June 2023.
583	4430163795739	Rijhu Mal	Kanho	Pharmacy	2020-21	BP1850142	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
584	4120551695041	Muhammad Hassan	Noor Ahmed	Pharmacy	2020-21	BP1850110	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
585	4230185043804	Sara Ali	Ali Muhammad	Microbiology	2020-21	H1921127	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
586	7120275873133	Abdul Karim	Abdul Khaliq	Islamic History	2020-21	h1962001	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
587	5140297168708	Gulzaib	Khuda Bakhsh	Urdu	2020-21	H1980033	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
588	4410702278335	Wajid Mir	Muhammad Yousaf	Pharmacy	2020-21	BP1850188	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
589	4210109388232	Syeda Kinza Tauseef	S. M. Tauseef	Physiology	2020-21	H1924108	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
590	5140105756861	Wahab Ullah	Mir Muhammad	Physics	2020-21	H1923156	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
591	4210144379686	Maria Wajid	Abdul Wajid Qureshi	Social Work	2020-21	H1976034	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
592	4310513139483	Uzair Ahmed	Muhammad Ibrahim	Pharmacy	2020-21	H1806024	2	Rs. 14,680	Rs. 29,360	Rs. 60,000	Payment credited successfully in June 2023.
593	4220190814049	M. Anwer Faheem Abbasi	Faheem Uddin Abbasi	Visual Studies	2020-21	B1898082	2	Rs. 41,740	Rs. 83,480	Rs. 60,000	Payment credited successfully in June 2023.
594	4210122833820	Wardah Fatima	Zahid Khan	Mathematics	2020-21	H1920150	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
595	4210158793713	Fabiha Touheed	Muhammad Touheed	Physiology	2020-21	H1924029	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
596	4220129291282	Faiza Moin	Moin Ahmed	H.& Physical Edu.& Sports Sci.	2020-21	H1916014	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
597	4210185078130	Tooba Tariq	M. Tariq Iqbal	Physiology	2020-21	H1924113	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
598	4210140615403	M. Khurram	M. Iftikhar Uddin	ISPA / ISST	2020-21	H1918067	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
599	4240188024469	Junaid Ahmed	Muhammad Maqbool	ISPA / ISST	2020-21	H1918045	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
600	4210191208829	Aashir Ali Khan	Amir Ali Khan	Chemical Engineering	2020-21	B19082001	2	Rs. 39,000	Rs. 78,000	Rs. 60,000	Payment credited successfully in June 2023.
601	4220179816066	Aleezah Jawaid	M. Jawaid Iqbal	Public Administration	2020-21	H1972003	2	Rs. 30,000	Rs. 60,000	Rs. 60,000	Payment credited successfully in June 2023.
602	4250116327371	Noman Shah	Niaz Shah	Chemical Engineering	2020-21	B19082018	2	Rs. 39,000	Rs. 78,000	Rs. 60,000	Payment credited successfully in June 2023.
603	4210157160408	Aliza Ali	Muhammad Ali	Statistics	2020-21	P19071035	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
604	4230137978261	Huzaifa	Muhammad Hamid	Petroleum Technology	2020-21	H1922007	2	Rs. 46,500	Rs. 93,000	Rs. 60,000	Payment credited successfully in June 2023.
605	4250155229673	M. Asad Arshad Ali	M. Arshad Ali	Petroleum Technology	2020-21	H1922014	2	Rs. 46,500	Rs. 93,000	Rs. 60,000	Payment credited successfully in June 2023.
606	4240189499930	Hafsa Furqan	M. Furqan Akhter	Islamic Learning	2020-21	H1963048	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
607	4240174431133	Muhammad Nabeel	Jawwad Ali Khan	Geology	2020-21	H1915053	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
608	4210125095810	Iqra	Muhammad Siddique	Library & Infor. Sci.	2020-21	H1965024	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
609	4240196304616	Munaima Ali	Syed Rafiq Ali	Philosophy	2020-21	H1969050	2	Rs. 28,500	Rs. 57,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

Column # 11: Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
610	1570320831853	Tariq Aziz	Yaqoob Khan	Special Education	2020-21	H1978020	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
611	5210180568949	Muhammad Saleem	Muhammad Khalid	Criminology	2020-21	H1960092	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
612	4220174100076	Minhal	Muhammad Aslam	Centre of Excellence for Wom	2020-21	H1983050	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
613	4200049148952	Syeda Mayum Zehra	S. M. Hussain Kazmi	Library & Infor. Sci.	2020-21	H1965032	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
614	3720137667737	Bilal Zafar	Zafar Iqbal	Acturial Sciences	2020-21	B19252014	2	Rs. 34,000	Rs. 68,000	Rs. 60,000	Payment credited successfully in June 2023.
615	7110375973431	Wajahat Ali	Muhammad Iqbal	Urdu	2020-21	H1980121	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
616	4240195390660	Mehreen Mukhtar	M. Mukhtar Ahmed	Statistics	2020-21	H1925049	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
617	4240140555202	Laiba Saleem	Mohammad Saleem	Statistics	2020-21	H1925038	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
618	5150315646265	Naseer Ahmed	Syed Muhammad	International Relations	2020-21	H1961040	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
619	4250107104324	Yousra Zahid	Muhammad Zahid	Mathematics	2020-21	H1920151	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
620	4240143597557	Sheikh M. Hassan Raza	Wali Muhammad	Applied Chemistry & Chemica	2020-21	H1903065	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
621	4210193072592	Sabeeha Shafaat	Shafaat Ul Rasul	Urdu	2020-21	H1980102	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
622	4340704694231	Sartaj Ahmed	Khadim Hussain	Sindhi	2020-21	H1975044	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
623	5440055922958	Summaiya Batool	Ghulam Yahya	Urdu	2020-21	H1980113	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
624	4220188631034	Fizza Aslam	Muhammad Aslam	Microbiology	2020-21	H1983050	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
625	4210142090768	Farheen Shafiq	Muhammad Shafiq	Applied Physics	2020-21	H1904006	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
626	3460273478066	Aniza	Abid Hussain	Urdu	2020-21	H1980010	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
627	4320358007988	Mehr-Un-Nisa	Khaire Muhammad	General History	2020-21	H1960075	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
628	4210175487281	Muhammad Haris	Tahir Hussain	Statistics	2020-21	H1925059	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
629	4250173058212	Rafia	Huzoor Bux Jakhrani	Library & Infor. Sci.	2020-21	H1965043	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
630	5230197422671	Sajid Tayyab	Muhammad Tayyab	Economics	2020-21	H1957139	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
631	4120332201979	Adnan Zulfiqar	Zulfiqar Ali	Pharmacy	2020-21	BP1850007	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
632	4250128886906	Nimra Salar	Sheikh M. Salar	General History	2020-21	H1960104	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
633	7110214986301	M. Zuhair Iqbal	Ghulam Mehdi	Zoology	2020-21	P19801027	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
634	4340205339079	Sadaqat Ali	Mushtaque Ahmed	Zoology	2020-21	H1926094	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
635	4210139365763	M. Taha Masood	Masood Akhtar	Statistics	2020-21	H1925062	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
636	4220180372532	Najam Us Sahar	Anees Mian	ISPA / ISST	2020-21	H1918082	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
637	4130452842166	Khizra Urooj	Muammad Tahir	Islamic Learning	2020-21	H1963059	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
638	4520459868410	Shumaila	Riaz Hussain	Zoology	2020-21	H1926104	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
639	4210122155574	Wajeeha Qayyum	Qayyum Zaheer	Physiology	2020-21	H1924118	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
640	4220165993926	Umaima Sehar	Saeed Alam	Economics	2020-21	H1957173	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
641	4210156865224	Laiba	Muhammad Naeem Ansari	Botany	2020-21	H1907067	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
642	4240138147956	Kanzul Aslam	Sheikh Aslam Ali	Physiology	2020-21	H1924049	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
643	1610139986296	Urfa Tahir	Tahir Hussain	Petroleum Technology	2020-21	H1922021	2	Rs. 46,500	Rs. 93,000	Rs. 60,000	Bank Account Discrepant. Contact UBL KU Branch.
644	4220117200216	Umm-E-Rumaisa	M. Mateen	Economics	2020-21	H1957176	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
645	4210155394912	Aiman Fatima	Arif Hussain	Applied Chemistry & Chemica	2020-21	H1903008	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
646	4320184338456	Megha	Muzaffar Ali	Public Administration	2020-21	H1972025	2	Rs. 30,000	Rs. 60,000	Rs. 60,000	Payment credited successfully in June 2023.
647	4530143385297	Humair Ali	Abdul Hafeez	Applied Chemistry & Chemica	2020-21	H1903024	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.

University of Karachi

HEC-Needs Based Scholarship (FY 2022-23) Stipend Payment and Fee Adjustment Notification

Column # 10: Amount indicated has been adjusted against tuition fee of each candidate.

<u>Column # 11:</u> Amount indicated has been credtied in UBL account numbers of candidates towards stipend.

Important Note: In case renewal of scholarship batch 2020-21 awarded candidate is not submitted timely or may have left unpaid all those candidates are required to submit a written request for the same duly recommended by Chairperson of concerned department latest by August 10, 2023 to Room # 54, 3rd Floor, Old Admin. Block b/w 10:00 AM to 01:00 PM.

1	2	3	4	5	6	7	8	9	10	11	12
S.No.	CNIC#	Name	Father's Name	Department	Scholarship Batch	Seat #	Number of Semester Adjusted out of FY2022-23	Tuition Fee Per Semester	Fee Adjustment Amount	Stipend (@ Rs. 30,000/- per semester) paid to Student's UBL Account	Remarks
648	4220121733398	Tehmina Fatima	Syed Ali Ameer Jaffri	Education	2020-21	H1958045	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
649	4230176455206	Noor Saif	Saifullah	Bio Chemistry	2020-21	H1905077	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
650	5220319274053	Mohsin Azeem	Muhammad Azeem	Economics	2020-21	H1957097	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
651	4210153182958	Huma Laiq	M. Laiq Qadri	School of Law	2020-21	H18132025	2	Rs. 39,760	Rs. 79,520	Rs. 60,000	Payment credited successfully in June 2023.
652	4210112738127	Syed Asad Hussain	S. Ansar Hussain	Mathematics	2020-21	H1920126	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
653	4220187064068	Wajeeha Ali	Khurram Ali	Agriculture & Agribusiness Ma	2020-21	B19022081	2	Rs. 38,000	Rs. 76,000	Rs. 60,000	Payment credited successfully in June 2023.
654	5220384445589	Abdul Wahab	Wahid Bakhsh	Statistics	2020-21	H1925003	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
655	4220178089556	Mubashira Junaid	Junaid Aleem Qureshi	Zoology	2020-21	H1926073	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
656	4230169243420	Simra	Tariq Mehmood	Usooluddin	2020-21	H1981028	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
657	5140245766758	Fazeela	Karim Bakhsh	Centre of Excellence for Wom	2020-21	H1983027	2	Rs. 12,500	Rs. 25,000	Rs. 60,000	Payment credited successfully in June 2023.
658	4210119684300	Iqra Urooj	M. Umar Farooq Khan	ISPA / ISST	2020-21	H1918042	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
659	4210165195901	Syed Hamza Raza	S. Shahid Raza Rizvi	Pharmacy	2020-21	BP1850168	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
660	4250139907876	Fizzah Fatima	Syed Zakir Hussain Alvi	Business School	2020-21	H1921051	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
661	4210101860630	Somal Qazi	Qazi M. Laeeq	Pharmacy	2020-21	BP1850164	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.
662	4220128296886	Husna Shafiq	Shafiq Ahmed	Applied Chemistry & Chemica	2020-21	H1903025	2	Rs. 17,000	Rs. 34,000	Rs. 60,000	Payment credited successfully in June 2023.
663	4220175317686	Mehreen Ahmar	Ahmar Hussain Siddiqui	Public Administration	2020-21	H1972026	2	Rs. 30,000	Rs. 60,000	Rs. 60,000	Payment credited successfully in June 2023.
664	4330149296013	Muhammad Rafique	Shahid Khan	Pharmacy	2020-21	BP1850112	2	Rs. 29,200	Rs. 58,400	Rs. 60,000	Payment credited successfully in June 2023.

Dated: **July 28, 2023**

Sd/Dr. Sadaf Mustafa
Incharge